5. Giventhata=3i-5k, b=2i+7jand c=i+j+Kk, find the vector d
suchthatadotd =-9, bdotd =11 and cdotd =6

C‘\: AL‘L’-\- clz\bJ\— clay\
a-d= 34 -\—L——QJQ =-9
bed = d +70, =
C‘C\: Ol; + C\D +ClB: Ep



. Leb a=5i-3+TK b=+ AWK Eind Do
Sechtet oD s peccendicular +o a-b
(athy= (sr)e +(-3+13)+ (7 + MK
(are) = LL =) +{ 74 NK
la—b)= dl-4y+« (7 -NK
_ (ak) - (a6 = (brt) + (-3~ N+ (9 M- M)

=24 + 4 4q-°
O = 8- H>

A= §)
=29
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TnterSedkion of Two Lines
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Where do Q gectors cross?.
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THE POINT 66 INTERSECTION.

%’wa VEECTORS ARE EQUR L. |TFE THER COR R ESPams/~
Dine comporoenTsS ARE €QuA L

X 3 ] EREE
rl:'- {j = a _fS \ :> Lj‘:%

< . i - e B

¥t —
/j)u (Q +%($ :> Xj:%srqlc

s d



>K S (WCE THE VALLE OF Sand £ s
COMOSI\STEMNT FoR ALL THREE € QUATIWS.
XKy, TTHE TWO LineS MUST IaTeRrSecT,
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